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 INSTRUCTION: ¼ funsZ”k½ 

 Duration of test is 120 Minutes and Question Paper contains 75 Questions in Math Group, and 80 

Questions in Bio Group. The Maximum Marks are 300 for Math Group, and 320 for Bio Group. 

ijh{kk dh vof/k 120 feuV gSa rFkk iz”u i= esa dqy 75 iz”u gS eSFk xzqi esa] vkSj 80 iz”u ck;ks xqzi esaA vf/kdre vad 

300 eSFk xzqi ds fy, vkSj 320 vad ck;ks xzqi ds fy, gSA 

 Students cannot use Log Table, Mobile and Calculator or any other Digital Instrument in the 

 examination hall. 

 fo|kfFkZ;ksa dks ijh{kk d{k esa ykWx Vscy] eksckby] vkSj dSydqysVj ;k fdlh vU; fo|qr ;a= dk mi;ksx oftZr gSA 

 Student must abide by the instruction issued during the examination, by the invigilators or the centre incharge. 

 ijh{kk ds le; fo|kFkhZ dks ijh{kd }kjk fn;s x;s funsZ”kksa dk ikyu djuk vko”;d gSA 

 Before attempting the question paper ensure that it contains all the pages and no question is missing. Read each 

 question carefully. 

 iz”u i= gy djus ls igys fo|kFkhZ vk”oLr gks tk,a fd blesa lHkh ist layXu gSa rFkk dksbZ iz”u NwVk u gksA izR;sd 

iz”u /;kuiwoZd i<+sA 

 Each correct answer carries 4 marks.  

 izR;sd lgh mRrj ds 4 vad gSa xyr mRrj ij vad ugh dkVk tk,xkA 

 A candidate has two write his/her answers in the OMR sheet by darkening the appropriate bubble with the 

 help of Blue/Black Ball Point Pen only. 

 ijh{kkFkhZ dks gy fd;s x;s iz”u dk mRrj iqfLrdk esa lgh LFkku ij d soy uhys@dkys cky IkkabUV isu ds }kjk mfpr xksys 

dks xgjk djds nsuk gSA 

 Use of pencil is strictly prohibited. 

 isfUly dk iz;ksx oftZr gSA 

Name of the candidate:____________________________________________________________ 

 

 

 Signature of the candidate: ______________Signature of the invigilator:_______________ 
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                                             PHYSICS                                                         Hkk Sfrd foKku
 

1. A blind person after walking 10 steps in one 
direction, each of length 80 cm, turns 

randomly to the left or to the right by 90º. 

After walking a total of 40 steps the 

maximum possible displacement of the 

person from his starting position could be - 
 (a) 320 m  (b) 32 m   

 (c) 16/ 2 m   (d) 16 2 m 
 

2. Two constant forces 1F


= (2 î – 3 ĵ  + 3 k̂ ) N 

and 2F


 = ( î  + ĵ  – 2 k̂ ) N act on a body and 

displace it from the position                                    

1r


=( î +2 ĵ –2 k̂ )m to the position                               

2r


= (7 î  + 10 ĵ  + 5 k̂ ) m. What is the work 

done? 
 (a) 9 Joule  (b) 41 Joule    

 (c) –3 Joule   (d) None of these  

 

3. The linear velocity of a rotating body is 

given by v r
  

  , where 


 is the angular 

velocity and r


is the radius vector. The 

angular  velocity of a body 


= k̂2ĵ2î   

and their radius vector r


= 4 ĵ  – 3 k̂ , |v|


 is - 

 (a) 29  units  (b) 31 units    

 (c) 37    (d) 41  units 

 

4. 0.4 î  + 0.8 ĵ  + c k̂  represents a unit vector, 

when c is - 

 (a) 0.2  (b) 2.0    

 (c) 8.0    (d) 0 

 

5. [M L T –1] are the dimensions of-  
 (a) power    (b) momentum   

(c) force   (d) couple 
 

6. Vander waal's gas equation is DD 

 









2V

a
P  (V–b) = RT. The dimensions of 

constant a as given above are – 

(a) [M L4 T–2 ] (b) [ML5 T–2]   

 (c) [M L3 T–2] (d) [M L2 T–2] 

 

 

 

 

 

 

 

1. ,d va/kk O;fDr izR;sd 10 dne pyus ds ckn nk;ka 

;k ck;ka yEcor eqM+ tkrk gSA tcfd izR;sd dne 

80 cm dk gS] dqy 40 dne pyus ds ckn mldk 

izkFkfed fcUnq ls vf/kdre laHko foLFkkiu D;k 

gksxk& 

 (a) 320 m  (b) 32 m   

 (c) 16/ 2 m   (d) 16 2 m 
 

2. nks fu;r cy 1F


= (2 î – 3 ĵ  + 3 k̂ ) N ,oa                    

2F


= ( î  + ĵ  – 2 k̂ ) N ,d oLrq ij dk;Zjr gS ,oa 

bls 1r


=( î  + 2 ĵ  – 2 k̂ ) m ls  

2r


= (7 î  + 10 ĵ + 5 k̂ ) m  

rd foLFkkfir djrs gSaA vr% fd;k x;k dk;Z 

gksxkA 

(a) 9 Joule  (b) 41 Joule    

 (c) –3 Joule   (d) buesa ls dksbZ ugha 

 

3. ?kw.kZu djrh gqbZ oLrq dk js[kh; osx v r
  

   tgk¡ 



 dks.kh; osx ,oa r


 f=T;k lfn”k gSA oLrq dk 

dks.kh; osx 


= k̂2ĵ2î   ,oa f=T;k lfn”k                

r


= 4 ĵ  – 3 k̂ ,  gS rc |v|


D;k gksxk& 

(a) 29  units  (b) 31 units    

(c) 37    (d) 41  units 
 

4. 0.4 î  + 0.8 ĵ  + c k̂  ,d bdkbZ lfn”k dks fu:fir 

djrk gS] ;fn c gS& 

 (a) 0.2  (b) 2.0    

 (c) 8.0    (d) 0 
 

5. [M L T –1] fdl HkkSfrd jkf”k dh foek gS& 

 (a) “kfDr   (b) xfr 

 (c) cy   (d) cyvk?kw.kZ 
 

6. okaMj oky dk xSl lehdj.k 









2V

a
P  (V–b) = 

RT gS] Åij fn, x, fLFkjkad a dh foek gS& 

(a) [M L4 T–2 ] (b) [ML5 T–2]  

 (c) [M L3 T–2] (d) [M L2 T–2] 
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7. The distance covered by a particle in time t 

is given by x = a + bt + ct2 + dt3. The 
dimensions of a and d are – 

(a) [L], [T–3 ]  (b) [L], [LT–3 ] 

(c) [L0], [T3 ]  (d) none of these 
 

 

 

 

8. The radius of the circle is stated as 2.12 cm. 

Its area should be written as-  

 (a) 14 cm2 (b) 14.1 cm2  

 (c) 14.11 cm2 (d) 14.1124 cm2 

 
 

9. Then the displacement and distance of the 

particle are respectively - 

 (a) 2r, 0   (b) 2r, r  

 (c) 
2

r
, 2r  (d) r, r 

 

10. The displacement-time relationship for a 

particle is given by x = a0 + a1t + a2t2. The 

acceleration of the particle is - 

 (a) a0         (b) a1 (c) a2          (d) 2a2 
 

11. At an instant t , the co-ordinates of  a 

particle are x = at2, y = bt2 and z = 0 , then its 

velocity at the instant t will be  

 (a) t 22 ba    (b) 2t 22 ba     

 (c) 22 ba    (d) 2t2 22 ba   

 

12. A particle, after starting from rest, 

experiences, constant acceleration for 20 
seconds. If it covers a distance of S1, in first 

10 seconds and distance S2 in next 10 sec, 

then   
 (a) S2 = S1/2  (b) S2 = S1 

 (c) S2 = 2S1  (d) S2 = 3S1 
 

13. Two trains each of length 50 m are 

approaching each other on parallel rails. 

Their velocities are 10 m/sec and 15 m/sec. 

They will cross each other in -  

(a) 2 sec  (b) 4 sec   

 (c) 10 sec  (d) 6 sec 

 
 

 

 

 
 

 

 

 
 
 

 

7. le; t esa ,d d.k }kjk rd dh xbZ nwjh                        

x = a + bt + ct2 + dt3 }kjk nh xbZ gSA a vkSj d dh 

foek gS & 

(a) [L], [T–3 ] (b) [L], [LT–3 ]  

 (c) [L0], [T3 ] (d) buesa ls dkbZ ugha 

 

8. oR̀r dh f=T;k 2.12 cm lseh crkbZ xbZ gSA bldk 

{ks=Qy bl izdkj fy[kuk pkfg,& 

 (a) 14 cm2 (b) 14.1 cm2  

 (c) 14.11 cm2 (d) 14.1124 cm2 

 

9. ,d d.k] r f=T;k ds oÙ̀k dk] vk/kk Hkkx r; djrk gSA 

rks d.k }kjk r; foLFkkiu rFkk nwjh gksxh & 

 (a) 2r, 0   (b) 2r, r  

 (c) 
2

r
, 2r  (d) r, r 

 

10. ;fn ,d d.k ds foLFkkiu & le; dk lEcU/k          

x = a0 + a1t + a2t2  gks] rks mldk Roj.k gksxk& 

(a) a0 (b) a1 (c) a2 (d) 2a2 
 

11. fdlh le; t ij d.k ds funsZ”kkad x = at2, y = bt2 

rFkk  z = 0  gS rks le; t ij d.k dh pky gksxhA 

 (a) t 22 ba    (b) 2t 22 ba     

 (c) 22 ba    (d) 2t2 22 ba   

 

12. ,d d.k fojkekoLFkk ls xfr izkjEHk djus ds ckn 

20 lsd.M rd ,dleku :i ls Rofjr jgrk gSA 

;fn igys 10 lds.M esa S1 nwjh rFkk nwljs 10 

lds.M esa S2 nwjh r; djrk gS] rks  

(a) S2 = S1/2 (b) S2 = S1 

(c) S2 = 2S1  (d) S2 = 3S1 

 

13. nks jsyxkfM+;k¡ tks izR;sd 50 eh yEch gS] lekUrj 

iVfj;ksa ij ,d nwljs dh vksj vk jgh gSA nksuksa dh 

xfr Øe”k% 10 ehVj@lsd.M rFkk                          

15 ehVj@lsd.M gSA nksuksa Vªsu ,d nwljs dks ikj 

djsaxh& 

(a) 2 sec  (b) 4 sec  

 (c) 10 sec  (d) 6 sec 

 

 

 

 

 

 
 

mailto:ehVj@lsd.M
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14. A block is released from rest at t = 0 on a 

frictionless inclined plane. The distance 
travelled by the block in tn sec to tn+1 sec is 

represented by Sn. Then 
1n

n

S

S



 is   

 (a) 
1n2

1n2




  (b) 

1n2

1n2




 

 (c) 
1n2

n2


  (d) 

)1n2(

n2


 

 

15. The maximum vertical height attained by a 

projectile is 

(a) 
U

g

2 sin
  (b) 

U

g

2 sin 2
  

(c) 
U

g

2 sin 2

2
 (d) 

U

g

2 2sin

2
 

 

16. The kinetic energy of a projectile at the 
highest point is. 

(a) Zero  

(b) Maximum  

(c) Minimum  

(d) Equal to total energy  
 

17. A uniform rope of length lies on a table if 

the coefficient of friction is  , then the 

maximum length , of the part of this rope 

which can over hang from the edge of the 
table without sliding down is. 

(a) 


 (b) 
 1

     (c)


 1
     (d)



1
 

 

18. An inclined plane is inclined at an angle 

with the horizontal A body of mass m 
rests on it, if the coefficient of friction is  , 

then the minimum force that has to be 

applied to the inclined plane to make the 

body just move up the inclined plane is. 

(a) mg sin    
(b) mg cos  

(c) mg mg  cos sin   

(d) mg mg  cos sin  

 

 

 

 
 

 

 
 
 

 
 
 

 
 

14. ?k’kZ.kghu ur ry ij t = 0 ls ,d fLFkj xqVdk 

NksM+k tkrk gSA xqVds }kjk tn sec ls tn+1 sec  rd 

r; nwjh Sn }kjk iznf”kZr dh tkrh gS] rks 

1n

n

S

S



 

gksxk& 

(a) 
1n2

1n2




   (b) 

1n2

1n2




 

(c) 
1n2

n2


   (d) 

)1n2(

n2


 

 

15. iz{ksI; }kjk izkIr vf/kdre Å/okZ/kj Å¡pkbZ dk eku 

gksrk gS 

(a) 
U

g

2 sin
  (b) 

U

g

2 sin 2
  

(c) 
U

g

2 sin 2

2
 (d) 

U

g

2 2sin

2
 

 

16. ,d iz{ksI; ds fy;s vf/kdre Å¡pkbZ dh fLFkfr esa 

xfrt ÅtkZ 

(a) 'kwU; gksrh gS 

(b) vf/kdre gksrh gS  

(c) U;wure gksrh gS  

(d) dqy ÅtkZ ds rqY; gksrh gS 

 

17. ,d leku  l yEckbZ dh jLlh Vscy ij j[kh gSA 

;fn ?k"kZ.k xq.kkad gSA rks fcuk fQlys jLlh dk 

fdruk Hkkx Vscy ls uhps yVd ldrk gS – 

(a) 


 (b) 
 1

 (c) 


 1
 (d) 



1
 

18. ,d ur ry {kSfrt ds lkFk dks.k cukrk gSA ,d 

m nzO;eku dh oLrq bl ij fLFkj gSA ;fn ?k"kZ.k 

xq.kkad   , gS rks ur ry ij yxk;k tkus okyk 

og U;wure cy D;k gks rkfd oLrq ur ry ij 

Åij pyus yxs 

(a) mg sin   

(b) mg cos  

(c) mg mg  cos sin   

(d) mg mg  cos sin  
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19. A heavy block of mass m is supported by a cord 
C from the ceiling, and another cord D is 
attached to the bottom of the block. If a sudden 
jerk is given to D, then- 

 
 (a) cord C breaks  
 (b) cord D breaks 
 (c) cord C and D both break    
 (d) none of the cords breaks 
 
 
 
20. Blocks are in contact on a frictionless table. A 

horizontal force F = 3N is applied to one block as 
shown. The force exerted by the smaller block 
m2 on bigger block m1 is- 

 
(a) 1 N (b) 2 N  (c) 3 N (d) 6 N 
 

21. Two bodies of masses 10 kg and 5 kg moving on 
concentric orbits of radii R and r such that their 
period of revolution are same. The ratio of their 
centripetal acceleration is – 

(a) 
R

r
 (b) 

r

R
 (c) 

R

r

2

2
 (d) 

r

R

2

2
 

 

22. A sphere is suspended by a thread of length . 
What minimum horizontal velocity is to be 
imparted to the sphere for it to reach the height 
of suspension? 

(a) g   (b) g   

(c) g2   (d) g/  
 

23. A body of mass m crosses the top most point of a 
vertical circle with critical speed. What will be 
tension in string when it is horizontal- 
(a) mg  (b) 2 mg  
(c) 3 mg  (d) 6 mg 
 

24. A force ˆ ˆ(3 4 )


 F i j Newton acts on a 

particle which moves from a position (2m, 

3m) to (3m, 0m). Then the work done is 

(a) +9 J  (b) 9 J 
(c) – 4.5 J  (d) + 4.5 J 

 

 
 

19. m nzO;eku okyk ,d Hkkjh CykWd layXu fp=kkuqlkj Nr 

ls rkj C }kjk yVdk gqvk gS A mlds iaSns ls  D rkj 

yVdk gqvk gS A ;fn  D rkj dks idM+ dj vpkud ls 

>Vdk fn;k tk;s rks & 

 

 (a) C rkj VwV tk;sxk    

 (b) D rkj VwV tk;sxk  

 (c) C rFkk D nksuksa rkj VwV tk;saxs 

(d) dksbZ Hkh rkj ugha VwVsxk 

 

20. ,d ?k"kZ.kjfgr Vscy ij nks CykWd ijLij Nwrs gq, 

j[ks gaSA ,d CykWd ij  F = 3 N ¼fp=kuqlkj½ dk;Z 

djrk  gSA NksVs CykWd m2 }kjk cM+s CykWd m1 ij 

yx jgk cy gS& 

 
(a) 1 N (b) 2 N  (c) 3 N (d) 6 N 

 

21. nks 10 fdxzk o 5 fdxzk ds fi.M ladsUnzh; oÙ̀kksa 

ftudh f=T;k,¡ R rFkk r gS] ij bl izdkj 

xfr'khy gSa fd buds ?kw.kZu vkoZrdky leku gSa] rks 

budss vfHkdsUnzh; Roj.kksa dk vuqikr gS & 

(a) 
R

r
 (b) 

r

R
 (c) 

R

r

2

2
 (d) 

r

R

2

2
 

22. ,d xksyk]  yEckbZ ds /kkxs ls yVdk gqvk gS] rks 

xksys dks de ls de fdruk {kSfrt osx nsa fd og 

yVdus okys fcUnq dh Å¡pkbZ rd igq¡p lds& 

(a) g   (b) g   

(c) g2   (d) g/  
 

23. ,d m nzO;eku dh oLrq Å/okZ/kj oR̀r ds mPpre 

fcUnq dks Økafrd pky ls ikj djrh gSA tc ;g 

{kSfrt gS rks jLlh esa ruko gS& 

(a) mg (b) 2 mg (c) 3 mg (d) 6 mg 

24. ,d d.k ij cy 
ˆ ˆ(3 4 )



 F i j N dk;Zjr gSA tks 

fd fLFkfr (2m, 3m)  ls (3m, 0m)  rd xfr 

djrk gS rks fd;k x;k dk;Z gksxk 

(a) +9 J  (b) 9 J 

(c) – 4.5 J  (d) + 4.5 J 
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25. A man pushes a wall but fails to displace it, 

he does-  
 (a) Negative work  

 (b) Positive but not maximum work   

 (c) no work at all 

 (d) maximum work 

 

CHEMISTRY 
 

26. In third row of Periodic Table from Na to Cl 

(a) Electronegativity increases  

(b) Electronegativity decreases 

(c) Ionisation energy decreases  

(d) Atomic volume increases 
 

27. Work done during isothermal expansion of 

one mole of an ideal gas from 10 atm to 1 

atm at 300 K is (Gas constant = 2) 

(a) 938.8 cal  (b) 1138.8 cal 

(c) 1381.8 cal  (d) 1581.8 cal 
 

28. Which of the following quantum numbers 

are correct for the outermost electron of 
sodium atom? 

(a) n = 4, l = 0, m = 0, s = +1/2 

(b) n = 3, l = 0, m = 0, s = 1/2  

(c) n = 3, l = 1, m = +1, s = +1/2 

(d) n = 3, l = 2, m = 1, s = 1/2 
 

29. Acetic acid (Ka =  52 10 ) and propionic 

acid (Ka =  62 10 )have same concentration. 

What is the ratio of their degree of ionisation 

(a) 100  (b) 10   

(c) 10  (d) 0.1 
 

30. Which compound among the following has 

lowest oxidation number of chlorine? 

(a) HClO4  (b) HClO3 

(c) HCl  (d) HOCl 

 

31. For the reaction H2(g) + CO2(g) CO(g) + 

H2O(g), if the initial concentration of [H2] = 

[CO2] and x moles/litre of hydrogen is 

consumed at equilibrium, the correct 

expression of Kp is ____? 

(a) 
2

2

x

(1 x)
  (b) 

2

2

(1 x)

(1 x)




 

(c) 
2

2

x

(2 x)
  (d) 

2

2

x

1 x
 

 

25. ,d euq’; nhokj dks /kDdk yxkrk gSa rFkk og 

mldks foLFkkfir djus esa vlQy jgrk gSa rks og 

djrk gS&  

(a) _.kkRed dk;Z  

(b) /kukRed fdUrq vf/kdre ugha  

(c) dksbZ dk;Z ugha djrk  

(d) vf/kdre dk;Z  

 

jlk;u foKku 

26. vkorZ lkj.kh dh rhljh iafDr esa Na ls Cl rd  

(a) oS|qqrh;_.kkRed c<+rh gS 

(b) oS|qqrh;_.kkRed ?kV tkrh gS 

(c) vk;uhdj.k ÅtkZ ?kV tkrh gS 

(d) ijek.kq vk;ru c<+rk gS 
 

27. vkn'kZ xSl ds ,d eksy ds 10 ,Vh,e ls 1 ,Vh,e 

rd  ¼xSl fLFkjkad 300 K = 2½ ds lerkih foLrkj 

ds nkSjku fd;k x;k dk;Z 

(a) 938.8 dSyksjh (b) 1138.8 dSyksjh 

(c) 1381.8 dSyksjh (d) 1581.8 dSyksjh 

 

28. lksfM;e ijek.kq ds lcls ckgjh bysDVªkWu ds fy, 

fuEufyf[kr esa ls dkSu lh DokaVe la[;k lgh gS\ 

(a) n = 4, l = 0, m = 0, s = +1/2 

(b) n = 3, l = 0, m = 0, s = 1/2  
(c) n = 3, l = 1, m = +1, s = +1/2 

(d) n = 3, l = 2, m = 1, s = 1/2 
 

29. ,flfVd ,flM (Ka =  52 10 )vkSj izksfi;ksfud 

,flM (Ka =  62 10 )  dh lkUnzrk leku gksrh gSA 

muds vk;uhdj.k dh fMxzh dk vuqikr D;k gS 

(a) 100  (b) 10   

(c) 10  (d) 0.1 
 

30. fuEufyf[kr esa ls fdl ;kSfxd esa Dyksjhu dh 

vkWDlhdj.k la[;k lcls de gS 

(a) HClO4  (b) HClO3 

(c) HCl  (d) HOCl 
 

31. izfrfØ;k ds fy, H2(g) + CO2(g) CO(g) + 

H2O(g) ;fn [H2] = [CO2] vkSj x eksy@yhVj 

gkbMªkstu dh izkjafHkd lkanzrk larqyu ij [kir gksrh 

gS] rks Kp dh lgh vfHkO;fDr &&&& gS\ 

(a) 
2

2

x

(1 x)
  (b) 

2

2

(1 x)

(1 x)




 

(c) 
2

2

x

(2 x)
  (d) 

2

2

x

1 x
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32. The molarity of pure water at 40 C is ____? 

(a) 1 M  (b) 2.5 M  

(c) 5 M  (d) 55.5 M 
 

 

 

33. Oxidation number of sulphur in 

peroxomonosulphuric acid (H2SO5) 

(a) +4 (b) +2 (c) +6 (d) 2 

 

34. The number of moles of SO2 in 6.4 g is ____? 

(a) 0.1  (b) 0.2  

(c) 0.3  (d) 0.4 

 

35. The 3d-orbitals having electron density in all 

the three axis is 

(a) 3dxy  (b) 3 2z
d  

(c) 3 yzd   (d) 3 zxd  
 

36. The group of heterocyclic compounds is : 

(a) Phenol, Furan  

(b) Furan, Thiophene 

(c) Thiophene, Phenol 

(d) Furan, Aniline 
 

37. K1 for N2(g) + 3H2(g) 32NH  

(g) is 49. The value of K2 for the following 

reaction will be  

NH3(g) 2 21/2N (g) 3/2H (g)  

(a) 1/7  (b) 1/49  

(c) 7  (d) 49 
 

38. The geometry of H2S and its dipole moment 

are …….? 

(a) angular and non-zero  

(b) angular and zero 

(c) linear and non-zero 

(d) linear and zero 
 

39. Which of the following has minimum bond 

length? 

(a) N2  (b) O2  

(c) Cl2  (d) F2 

 

40. The number of unpaired electrons in Zn+2 

_____? 

(a) 0  (b) 1  

(c) 2  (d) 3 
 

32. 40 C ij “kq) ikuh dh eksyjrk &&& gS\ 

(a) 1 M  (b) 2.5 M  

(c) 5 M  (d) 55.5 M 

 

33. isjksDlkseksukslY¶;wfjd ,flM (H2SO5) esa lYQj dh 

vkWDlhdj.k la[;k  

(a) +4 (b) +2 (c) +6 (d) 2 
 

34. 6.4 xzke esa SO2 ds eksYl dh la[;k &&&&gS\ 

(a) 0.1  (b) 0.2  

(c) 0.3  (d) 0.4 

 

35. Rkhuksa v{kksa esa bysDVªkWu ?kuRo okys 3d-vkWfcZVYl gSa 

(a) 3dxy  (b) 3 2z
d  

(c) 3 yzd   (d) 3 zxd  

 
 

36. fo’kepØh; ;kSfxdksa dk lewg gSA 

(a) fQuksy] Qqjku  

(b) Qqjku] fFk;ksQhu 

(c) fFk;ksQhu] fQuksy  

(d) Qqjku] ,fufyu 

 

37. N2(g)+3H2(g) 2NH3(g) ds fy, K1 dk eku                                             

49 gS rks fuEufyf[kr vfHkfØ;k ds fy, K2 dk eku 

gksxkA  

NH3(g) 2 21/2N (g) 3/2H (g)  

 (a) 1/7  (b) 1/49  

 (c) 7  (d) 49 
 

38. H2S dh T;kfefr vkSj bldk f}/kqzo vk?kw.kZ gS -------\ 

(a) dks.kh; vkSj “kwU; ugha  

 (b)dks.kh; vkSj “kwU; 

 (c) jSf[kd vkSj  xSj “kwU;  

 (d) jSf[kd vkSj “kwU; 

 

39. fuEufyf[kr esa ls fdldh U;wure ca/ku yackbZ gS\ 

(a) N2  (b) O2  

(c) Cl2  (d) F2 

 

40. Zn+2 ______ esa vk;qfXer bysDVWkuksa dh la[;k\ 

(a) 0  (b) 1  

(c) 2  (d) 3 
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41. In the Ne how many e contains m = -1 

(a) 4  (b) 2  

(c) 0  (d) 1 
 

42. In the periodic table from left to right in a 

period, the atomic volume 

(a) decreases   

(b) increases 

(c) remains same  

(d) first decreases then increases.] 
 

43. In which of the following processes 

magnetic moment and Bond order, both are 

changed. 

(a) NO   NO+ (b) 2 2O O   

(c) 2 2N N   (d) All of the above 
 

44. Which of the following will be the strongest 

bond? 

(a) F O   (b) O Cl  

(c) N H   (d) O H  
 

45. H2(g) + I2(g) 2HI(g) in this reaction when 

pressure increases, the reaction direction 

(a) Does not change (b) Forward 

(c) Backward (d) Decrease 

 

46. Which of the following gases will have least 

volume if 10 g of each gas is taken at same 

temperature and pressure? 

(a) CO2  (b) N2  

(c) CH4  (d) HCl 

 

47. The radius of the stationary state which is 

also called Bohr radius is given by the 

expression 2
n 0r n a where the value of a0 is 

(a) 52.9 pm  (b) 5.29 pm 

(c) 529 pm  (d) 0.529 pm 
 

48. Which of the following oxides is neutral in 

nature? 

(a) SrO  (b) Al2O3 

(c) CO2  (d) CO 

 

 

 

 

 

41. Ne esa fdrus e esa m = -1 gS 

(a) 4  (b) 2  

(c) 0  (d) 1 
 

 

42. vkorZ lkj.kh esa fdlh vkorZ esa ck,¡ ls nk,¡ tkus 

ij ijek.kq vk;ru 

(a) de gks tkrh gS  

(b)c<+rh gS 

(c)leku jgrk gS  

(d) igys ?kVrk gS fQj c<+rk gSA 

 

43. fuEufyf[kr esa ls fdl izfØ;k esa pqacdh; vk?kw.kZ 

vkSj ckWUM vkWMZj nksuksa cny tkrs gSaA 

(a) NO   NO+ (b) 2 2O O   

(c) 2 2N N   (d) Åij ds lHkh 

 

44. fuEufyf[kr esa ls dkSu lk lcls etcwr ca/ku 

gksxk\  

(a) F O   (b) O Cl  

(c) N H   (d) O H  
 

45. H2(g) + I2(g)  2HI(g) bl izfrfØ;k esa tc 

nckc c<+rk gS rks izfrfØ;k dh fn”kk 

(a) ugh cnyrk (b)vkxs 

(c) fiNM+k  (d) deh 

 

46. ;fn izR;sd xSl dk 10 xzke leku rkieku vkSj 

ncko ij fy;k tk, rks fuEufyf[kr esa ls fdl xSl 

dk vk;ru lcls de gksxk\ 

(a) CO2  (b) N2  

(c) CH4  (d) HCl 
 

47. fLFkj voLFkk dh f=T;k ftls cksgj f=T;k Hkh dgk 

tkrk gS] ml vfHkO;fDr 
2

n 0r n a }kjk nh tkrh gS 

tgk¡ a0 dk eku gS 

(a) “kke  52.9 cts (b) “kke  5.29 cts 

(c) 529 vijkºu  (d) 0.529 vijkºu 
 

48. fuEufyf[kr esa ls dkSu lk  vkWDlkbM izdf̀r esa 

rVLFk gS\ 

(a) SrO  (b) Al2O3 

(c) CO2  (d) CO 
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49. For a reaction to be spontaneous at any 

temperature, the conditions are 

(a) H ve, S ve       

(b) H ve, S ve       

(c) H ve, S ve       

(d) H ve, S ve       
 

50. The IUPAC name of the compound having 

formula 

 
(a) 3, 3, 3trimethylprop-1-ene 

(b) 1, 1,1-trimethyprop-2-ene 

(c) 2, 3-dimethylbut-1-ene 

(d) 2, 2-dimethylbut-3-ene. 
 

MATHEMATICS 
 

51. In a train five seats are vacant, then how 
many ways can three passengers sit 

(a) 20   (b) 30  

(c) 10   (d) 60 

 

52. The least value of (2sin2  + 3 cos2 ) is 
(a) 1  (b) 2 

(c) 
1

3
  (d) 

3

2
 

 

53. If (1 + by)n = (1 + 8y + 24 y2 + ......) then the 

value of b and n are respectively- 

(a) 4, 2  (b) 2, 4  

(c) 2, 4  (d) 2, 4 

 

54. The line 3 2 x y k meets the circle 
2 2 24 x y r at only one point, if k2 = -----? 

(a) 220r   (b) 52 r2 

(c) 252

9
r   (d) 220

9
r  

55. In the four numbers first three are in G.P. 

and last three are in A.P. whose common 

difference is 6. If the first and last numbers 

are same, then first will be- 
(a) 2  (b) 4 

(c) 6  (d) 8 
 

49. fdlh Hkh rkieku ij fdlh izfrfØ;k ds Lor%LQwrZ 

gkssus ds fy, “krsZa gksrh gSa 

(a) H ve, S ve       

(b) H ve, S ve       

(c) H ve, S ve       

(d) H ve, S ve       

50. lw= okys ;kSfxd dk IUPAC uke  

 

(a) 3, 3, 3 VªkbfeFkkbyizksi-1-,uh 

(b) 1, 1,1- VªkbesFkkbizksi-2-,uh 

(c) 2, 3- MkbfeFkkbyC;wV-1-,uh 

(d) 2, 2- MkbfeFkkbyC;wV-3-,uh 
 

 

Xkf.kr 

51. ,d jsyxkM+h esa ik¡p lhVsa [kkyh gSa] rks rhu ;k=h 

fdrus izdkj ls cSB ldrs gSa\  

(a) 20   (b) 30  

(c) 10   (d) 60 

 

52. (2sin2  + 3 cos2 ) dk U;wure eku gS  

(a) 1  (b) 2 

(c) 
1

3
  (d) 

3

2
 

 

53. ;fn (1 + by)n = (1 + 8y + 24 y2 + ......) gksa] rks b 

rFkk n ds eku Øe”k% gksaxs& 

(a) 4, 2  (b) 2, 4  

(c) 2, 4  (d) 2, 4 
 

54. js[kk 3 2 x y k  oR̀Rk 
2 2 24 x y r  dk dsoy 

,d fcanq ij feyrh gS] ;fn k2 = -----? 

(a) 220r   (b) 52 r2 

(c) 252

9
r   (d) 220

9
r  

 

55. pkj la[;kvksa esa ls izFke rhu xq.kksÙkj Js.kh esa rFkk 

vfUre rhu lekUrj Js.kh esa gSa] ftldk lkoZvUrj 6 

gSA ;fn izFke rFkk vfUre in leku gksa] rks igyk 

in gksxk& 

(a) 2  (b) 4 
(c) 6  (d) 8 
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56. If 2 25cos 7sin 6 0,   then the general 

value of  is …….? 

(a) 2n
4


   (b) n

4


  

(c) nn ( 1)
4


   (d) None of these 

 

57. 
5

3x 0

(1 ) 1
lim

(1 ) 1

 


 

x

x
 

 (a) 0  (b) 1  

 (c) 5/3  (d) 3/5 

 

58. The 5th term from the end in the expansion 

of 

93

3

2

2

 
 

 

x

x
is- 

(a) 63 x3  (b) 
3

252


x
 

(c) 
18

672

x
  (d) None of these 

59. The equation of a line parallel to x + 2y = 1 

and passing through the point of 

intersection of the lines x – y = 4 and                             

3x + y = 7 is- 
(a) x + 2y = 5 (b) 4x + 8y – 1 = 0 

(c) 4x + 8y + 1 = 0 (d) None of these 

 

60. Find the sum of first 27 terms of the AP              

a1, a2, a3,........ if it is known that a1 + a5 + a11 + 
a17 + a23 + a27 = 228 

(a) 1028  (b) 1026 

(c) 523  (d) None of these 

 

61. The equation of the parabola with focus                

(3, 0) and the directrix x + 3 = 0 is ____? 

(a) y2 = 3x  (b) y2 = 2x 

(c) y2 = 12 x (d) 2 6y x  

62. The fifth term of the H.P., 2, 
1 1

2 ,3 ,..........
2 3

 

will be _____? 

(a) 
1

5
5

  (b) 
1

3
5

 

(c) 1/10  (d) 10 

 

 

 

 

56. ;fn 2 25cos 7sin 6 0,   rks   dk lkekU; 

eku gS&&&&\ 

(a) 2n
4


    (b) n

4


  

(c) nn ( 1)
4


   (d) buesa ls dksbZ ugha 

 

57. 
5

3x 0

(1 ) 1
lim

(1 ) 1

 


 

x

x
 

(a) 0  (b) 1  

(c) 5/3  (d) 3/5 
 

58. 

93

3

x 2

2 x

 
 

 
ds foLrkj dk vUr ls 5 ok¡ in gksxk& 

(a) 63 x3  (b) 
3

252


x
 

(c) 
18

672

x
  (d) buesa ls dksbZ ugha 

 

59. ml js[kk dk lehdj.k tks x + 2y = 1 ds lekUrj gS 

,oa js[kkvksa x – y = 4 rFkk 3x + y = 7 ds izfrPNsnu 

fcUnq ls gksdj xqtjrh gS& 

(a) x + 2y = 5 (b) 4x + 8y – 1 = 0 

(c) 4x + 8y + 1 = 0 (d) buesa ls dksbZ ugha 

 

60. lekUrj Js.kh a1, a2, a3,........  ds izFke 27 inksa dk 

;ksxQy Kkr dhft, ;fn fn;k x;k gS fd a1 + a5 

+ a11 + a17 + a23 + a27 = 228 

(a) 1028  (b) 1026 

(c) 523  (d) buesa ls dksbZ ugha 
 

61. ukfHk (3, 0) vkSj Mk;jsfDVjDl x + 3 = 0 ds lkFk 

ijoy; dk lehdj.k &&&&&gS\ 

(a) y2 = 3x  (b) y2 = 2x 

(c) y2 = 12 x  (d) 2 6y x  

62. H.P. g-Js- dk ikapok in] 
1 1

2, 2 ,3 ,..........
2 3

 

gksxk&&&\ 

(a) 
1

5
5

  (b) 
1

3
5

 

(c) 1/10  (d) 10 
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63. If ,k N then 
4 1 4 1

2

 k ki i
equals. 

(a) -1  (b) i  

(c) 1  (d) –i 
 

64. The number of roots of the quadratic 

equation 28sec 6sec 1 0   is 
(a) Infinite (b) 1 

(c) 2  (d) 0 

 

65. The roots of the equation  

(p – 2) x2 + 2 (p – 2) x + 2 = 0 are not real 

when  

(a) [1,2]p  (b) [2,3]p  

(c) [2,4]p  (d) [3,4]p  

 

66. If cos sin ,  z i then 
1

1





z

z
is equal to 

(a) tani   (b) cot /2i  

(c) coti   (d) tan /2i  

 

67. The conjugate of 
3 2

5 3





i

i
is equal to- 

(a) 
1

(9 19 )
34

  i  (b) 
1

(9 19 )
34

 i  

(c) 
1

(19 9)
34

i  (d) 
1

(9 19 )
34

 i  

68. x x   | 1) | 4| ,4  

(a) 
 

 
 

1
,

2
  (b) 

 
 
 

1
,

2
 

(c) 
1 1

, ,
2 2

   
     
   

 (d) N.O. T. 

 

69. 3x 0

2sin x sin 2x
lim

x


 

(a) -1  (b) 2  
(c) 1  (d) -2 

 

70. If y = 
1 sin

1 sin





x

x
then find dy/dx 

(a) 
1

1 sin x
  (b) 

1

1 sin x
 

(c) 
1

1 cos x
  (d) 

1

1 cos x
 

 

 

63. ;fn ,k N rks 

4 1 4 1

2

 k ki i
cjkcj gS& 

(a) -1  (b) i  

(c) 1  (d) –i 
 

64. Lkehdj.k 
28sec 6sec 1 0   ds ewyksa dh 

la[;k gksxh& 

(a) vUkUr  (b) 1 

(c) 2  (d) 0 
 

 

65. p ds fdu ekuksa ds fy, lehdj.k  

(p – 2) x2 + 2 (p – 2) x + 2 = 0 ds ewy okLrfod 

ugh gSa& 

 (a) [1,2]p   (b) [2,3]p  

 (c) [2,4]p   (d) [3,4]p  

66. ;fn cos sin ,  z i rks 
1

1





z

z
 cjkcj gS & 

(a) tani   (b) cot /2i  

(c) coti   (d) tan /2i  
  

67. 
3 2

5 3





i

i
dk la;qXeh gksxk& 

(a) 
1

(9 19 )
34

  i  (b) 
1

(9 19 )
34

 i  

(c) 
1

(19 9)
34

i  (d) 
1

(9 19 )
34

 i  

68. x x   | 1) | 4| ,4  

(a) 
 

 
 

1
,

2
  (b) 

 
 
 

1
,

2
 

(c) 
1 1

, ,
2 2

   
     
   

 (d) N.O. T. 

 

69. 3x 0

2sin x sin 2x
lim

x


 

(a) -1  (b) 2  

(c) 1  (d) -2 
 

70. ;fn y = 
1 sin

1 sin





x

x
 rks dy / dx  Kkr dhft,A 

(a) 
1

1 sin x
  (b) 

1

1 sin x
 

(c) 
1

1 cos x
  (d) 

1

1 cos x
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71. The general solution of the equation 
24sin 1 is 

(a) n /6n I     

(b) n /6n I    

(c) 2n /6n I    

(d) N.O.T. 

 
72. If 3sin 5cos 5   then 5sin 3cos   

(a) 5  (b) 4  

(c) 3  (d) N.O.T. 

 

73. If n 2 3
0 1 2 3(1 )     x C C x C x C x  

..... , n
nC x then the value of 

+......+1 2 3 nC +C +C C is – 

(a) 2n+1  (b) 2n-1  

(c) 2n + 1  (d) 2n – 1 

 
74. If Sn denotes the sum of n terms of an 

arithmetic progression, then the value of         

(S2n – Sn) is equal to 

(a) 2Sn  (b) S3n  

(c) 3n

1
S

3
  (d) n

1
S

2
 

 

75. The sum of the roots of a equation is 2 and 
sum of their cubes is 98, then the equation 

is- 

(a) 2 2 15 0  x x  (b) 2 15 2 0  x x  

(c) 2 2 15 0  2x x  (d) 2 2 15 0  x x  
 

BIOLOGY 

71. 24sin 1 lehdj.k dk lkekU; gy gSA 

(a) n /6n I     

(b) n /6n I    

(c) 2n /6n I    

(d) N.O.T. 

 

72. ;fn 3sin 5cos 5   rc 5sin 3cos   

(a) 5  (b) 4  

(c) 3  (d) N.O.T. 
 

73. ;fn n 2 3
0 1 2 3(1 )     x C C x C x C x  

..... , n
nC x  gks rc +......+1 2 3 nC +C +C C dk 

eku gksxk & 

(a) 2n+1  (b) 2n-1  

(c) 2n + 1  (d) 2n – 1 

 

74. ;fn lekUrj Js.kh ds n inksa   dk ;ksxQy Sn 

n”kkZrk gks] rks (S2n – Sn) dk eku gS 

(a) 2Sn  (b) S3n  

(c) 3n

1
S

3
  (d) n

1
S

2
 

75. ,d lehdj.k ds ewyksa dk ;ksx 2 rFkk muds ?kuksa 

dk ;ksx 98 gks] rks lehdj.k gksxh& 

(a) 2 2 15 0  x x  (b) 2 15 2 0  x x  

(c) 2 2 15 0  2x x  (d) 2 2 15 0  x x  

 

tho foKku 
51. As we go from species to kingdom in a 

taxonomic hierarchy, the number of 

common characteristics 
(a) will decrease  

(b) will increase 

(c) remain same  

(d) may increase or decrease. 

 
52. The five kingdom classification was  

proposed by 

(a) R. H. Whittaker (b) C. Linnaeus 

(c) A. Roxberg (d) Virchow 
 

53. An association between roots of higher plant 

and fungi is called 

(a) lichen  (b) Fern  

(c) mycorrhiza (d) BGA 
 

 

51. tSls&tSls ge oxhZdj.k inkuqØe esa iztkfr ls 

txr dh vksj c<+rs gSa] lkekU; fo”ks’krkvksa dh 

la[;k  

(a) de gks tk,xk 

 (b) c<+ tk,xk 

(c) ogh jgrk gSA 

 (d) c<+ ;k ?kV ldrk gSA 
 

52. ikap txr oxhZdj.k dk izLrko fdlds }kjk fn;k 

x;k Fkk\ 

(a) vkj- ,p- fOgVsdj (b) lh- fyfuvl 

(c) , jkWDlcxZ (d) fojpks 
 

53. mPp ikS/ks dh tM+ksa vkSj dod ds chp laca/k 

dgykrk gS 

(a) ykbdsu  (b) QuZ 

(c) ekbdksjkbtk (d) chth, 
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54. A plant shows thallus level of organisation. 

It shows rhizoids and is haploid. It needs 

water to complete its life cycle because the 

male gametes are motile. It may belong to 

(a) pteridophytes (b) gymnosperms 

(c) monocots  (d) bryophytes 
 

55. The giant Redwood tree (Sequoia 

sempervirens) is a/an 

(a) angiosperm (b) free fern 

(c) pteridophyte (d) gymnosperm 
 
 
 
 
 
 
 
 

56. Which one of the following sets of animals 

share a four chambered heart? 

(a) Amphibian, Reptiles, Birds 
(b) Crocodiles, Birds, Mammals 

(c) Crocodiles, Lizards, Turtles 

(d) Lizards, Mammals, Birds 

 

57. Birds and mammals share one of the 
following characteristics as a common 

feature. 

(a) Pigmented skin      (b) Pneumatic bones 

(c) Viviparity                (d) Warm blooded 
 

58. Rearrange the following zones as seen in the 

root in vertical section and choose the 

correct option. 

A. Root hair zone  
B. Zone of meristems 

C. Root cap zone 

D. Zone of maturation 

E. Zone of elongation 

(a) C, B, E, A, D (b) A, B, C, D, E 
(c) D, E, A, C, B (d) E, D, C, B, A 

 

59. The mature seeds of plants such as gram 

and peas, possess no endosperm, because 
(a) these plants are not angiosperms 

(b) there is no double fertilisation in them 

(c) endosperm is not formed in them 

(d) endosperm gets used up by the 

developing embryo during seed 
development. 

 

60. Venation is a term used to describe the 
pattern of arrangement of 

(a) floral organs  

(b) flower in inflorescence 

(c) veins and veinlets in a lamina 

(d) all of them 
 

 

54. ,d ikS/kk laxBu ds FkSyl Lrj dks n”kkZrk gSA ;g 

izdan fn[kkrk gS vkSj vxqf.kr gksrk gSA bls viuk 

thou pØ iwjk djus ds fy, ikuh dh vko”;drk 

gksrh gS D;ksafd uj ;qXed xfr”khy gksrs gSaA ;g gks 

ldrk gS 

(a) VsfjMksQkbV~l (b) ftEuksLieZ 

(c) eksuksdkWV~l (d) czk;ksQkbV~l 
 

55. fo”kky jsMoqM o{̀k ¼fldks;k lsijfojsUl½ ,d gS 

(a) ,aft;ksLieZ (b) eqDr QuZ 

(c) VsfjMksQkbV (d) ftEuksLieZ 
 

 

 

 

56. fuEufyf[kr esa ls tkuojksa ds fdl lewg esa pkj 

d{kh; gǹ; gksrk gS\ 

(a) mHk;pj] ljhl`i] i{kh  

(b) exjePN] i{kh Lru/kkjh 

(c) exjePN] fNidyh] dNq, 

(d) fNidfy;ka] Lru/kkjh]i{kh 
 

57. i{kh vkSj Lru/kkjh fuEufyf[kr fo”ks’krkvksa es a ls ,d 

dks lkekU; fo”ks’krk ds :i esa lk>k djrs gSaA 

(a) jaftr Ropk (b) ok;oh; gfì;k 

(c) tjk;qtrk  (d) xeZ [kwu okyk 

 

58. fuEufyf[kr {ks=ksa dks Å/okZ/kj vuqHkkx esa tSlk fd 

tM+ks esa ns[kk tkrk gS ml vuqlkj iquO;ZofLFkr djsa 

vkSj lgh fodYi pqusaA 

(A) tM+ jkse {ks=  

(B) foHkT;ksrd {ks= 

(C) ewyxksi {ks=  

(D) ifjiDork dk {ks= 

(E) c<+ko dk {ks= 

(a) C, B, E, A, D (b) A, B, C, D, E 

(c) D, E, A, C, B (d) E, D, C, B, A 
 

59. puk vkSj eVj tSls ikS/kksa ds ifjiDo chtksa esa 

Hkwz.kiks’k ugha gksrk] D;ksafd 

(a) ;s ikS/ks ,fUt;ksLiZe ugha gSa 

 (b) muesa nksgjk fu’kspu ugha gksrk gS 

(c) muesa Hkwz.kiks’k ugha curk gS 

(d) cht fodkl ds nkSjku Hkwz.kiks’k dk mi;ksx 

fodkl”khy Hkzw.k }kjk fd;k tkrk gSA 

 

60. f”kjkfoU;kl ,d “kCn gS ftldk mi;ksx O;oLFkk ds 

iSVuZ dk o.kZu djus ds fy, fd;k tkrk gS 

(a) iq’Ik vax   

(b) iq’iØe esa Qwy 

(c) Qyd esa js[kk,a vkSj f”kjk,a 

(d) os lHkh 
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61. Epiblema of roots is equivalent to 

(a) pericycle  (b) endodermis 
(c) epidermis (d) stele 

 

62. Phellogen and phellem respectively denote 

(a) cork and cork cambium 

(b) cork cambium and cork 

(c) secondary cortex and cork 

(d) cork and secondary cortex 

 
 

63. The hindbrain in frog consists of 
(a) cerebellum 

(b) medulla oblongata 

(c) diencephalon 

(d) both (a) and (b) 
 

64. In frog, mesorchium is a thin fold of 

membrane extending between 

(a) two testes  

(b) liver and kidneys 
(c) two kidneys  

(d) kidneys and testes 

 

65. Select one which is not true for ribosomes. 
(a) Made of two subunits 

(b) Form polysome 

(c) May attach to mRNA 

(d) Have no role in protein synthesis 

 
66. Which one of these is not a eukaryote? 

(a) Euglena  (b) Anabaena 

(c) Spirogyra  (d) Agaricus 

 

67. Who proposed the fluid mosaic model of 
plasma membrane? 

(a) Camillo Golgi  

(b) Schleiden and Schwann 

(c) Singer and Nicolson 
(d) Robert Brown 
 

68. Which of the following is not true for a 

eukaryotic cell? 

(a) Cell wall is made up of peptidoglycans 

(b) It has 80S type of ribosome present in the 

cytoplasm 

(c) Mitochondria contain circular DNA 

(d) Membrane bound organelles are present 

 

 

 

 

61. tM+ksa dk ,fiCysek rqY; gS 

(a) isjhlkbfdy (b) ,aMksMfeZl 

(c) ,fiMfeZl  (d) LVsy 

 

62. Qsykstsu vkSj Qsyse Øe”k% fu:fir djrs gSa 

(a) dkWdZ vkSj dkWdZ dSfEc;e 

 (b) dkWdZ dSfEc;e vkSj dkWdZ 

(c) f}rh;d dkWVsZDl vkSj dkWdZ 

(d) dkWdZ vkSj lsdsaMjh dkWVsZDl 

 

63. esa<+d esa fiNyk efLr’d gksrk gS 

(a) lsfjcSye   

(b) esMqyk vkWcksaxVk 

(c) Mkb,UlsQsykWu  

(d) nksuksa (a) vkSj (b) 
 

64. es<+d esa eslksjfp;e chp esa QSyh gqbZ f>Yyh dh 

,d iryh rg gksrh gS 

(a) nks o’̀k.k   

(b) ;dr̀ vkSj xqnsZ 

(c) nks xqnsZ   

(d) xqnsZ vkSj o’̀k.k 

 

65. og pqusa tks jkbckslkse ds fy, lR; ugha gSA 

(a) nks mibdkb;ksa ls cuk gS 

(b) ikWyhlkse cukrk gSA 

(c) mRNA ls tqM+ ldrk gS 

(d) izksVhu la”ys’k.k esa dksbZ Hkwfedk ugha gS 

 

66. buesa ls dkSu ;wdsfj;ksV ugha gS\ 

(a) ;wXysuk  (b) vukcsuk 

(c) Likbjksxkbjk (d) ,xkfjdl 

 

67. IYkkTek f>Yyh dk nzo ekstsd ekWMy fdlus 

izLrkfor fd;k\ 

(a) dSfeyks xksYxh  

(b) LysMsu vkSj “oku 

(c) flUxj vkSj fudksylu  

(d) jkWcVZ czkmu 
 

68. ;wdsfj;ksfVd dksf”kdk ds fy, fuEufyf[kr esa ls 

dkSu lk lR; ugha gS\ 

(a) dksf”kdk fHkfRr isfIVMksXykbdsUl ls cuh gksrh gS 

(b) buesa lkbVksIykTe esa 80S izdkj ds jkbckslkse 

ekStwn gksrs gSa 

(c) ekbVksdkWfUMª;k esa xksykdkj DNA gksrk gS 

 (d) f>Yyh ls ca/ks dksf”kdk vaxd ekStwn gSa 
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69. Plastids differ from mitochondria on the 

basis of which of the following features? 
(a) Presence of two layers of membrane 

(b) Presence of ribosome 

(c) Presence of thylakoids 

(d) Presence of DNA 

 
70. An amino acid under certain conditions 

have both positive and negative charges 

simultaneously in the same molecule. Such 

a form of amino acid is called 
(a) acidic form           (b) basic form 

(c) aromatic form      (d) zwitterionic form 

 

71. The most abundant chemical in living 

organisms could be 
(a) protein  (b) water 

(c) sugar  (d) nucleic acid 

 

72. Glycogen is a homopolymer made up of 

(a) glucose units (b) galactose units 
(c) ribose units (d) amino acids 

 

73. Meiosis in diploid organisms results in 

(a) production of gametes 
(b) reduction in the number of 

chromosomes 

(c) introduction of variation 

(d) all of the above 

 
74. Cells which are not dividing are likely to be 

at  

(a) G1  (b) G2  

(c) G0  (d) S phase  
 

75. Which of the events listed below is not 

observed during mitosis? 

(a) Chromatin condensation 

(b) Movement of centrioles to opposite poles 
(c) Appearance of chromosomes with two 

chromatids joined together at the 

centromere 

(d) Crossing over 

 
76. Which metal ion is a constituent of 

chlorophyll? 

(a) Iron  (b) Copper 

(c) Magnesium (d) Zinc 
 

 

 

 

 

69. fuEufyf[kr esa ls fdl fo”ks’krk ds vk/kkj ij yod 

ekbVksdkWfUMª;k ls fHkUu gksrs gSa\ 

(a) f>Yyh dh nks ijrksa dh mifLFkfr 

 (b) jkbckslkse dh mifLFkfr 

(c) Fkk;ykdksbM~l dh mifLFkfr 

(d) DNA dh mifLFkfr 

 

70. dqN “krksZa ds rgr ,d vehuks ,fLkM esa ,d v.kq esa 

,d lkFk ldkjkRed vkSj udkjkRed nksuksa pktZ 

gksrs gSaA vehuksa ,flM ds ,sls :Ik dks dgk tkrk gS 

(a) vEyh; :i (b) ewy :i 

(c) ,jkseSfVd :i (d) fToVfj;ksfud :i 

 

71. thfor thoksa esa lcls izpqj ek=k esa ik;k tkus okyk 

jlk;u gks ldrk gS 

(a) izksVhu  (b) ikuh 

(c) phuh  (d) U;wfDyd ,flM 

 

72. Xykbdkstu ,d gksekiksfyej tks fd cuk gksrk gS 

(a) Xywdkst bdkb;k¡ (b) xSysDVkst bdkb;k¡ 

(c) jkbckst bdkb;k¡ (d) vehuks ,flM 
 

73. f}xqf.kr thoksa esa v/kZlw=hfoHkktu dk ifj.kke gksrk 

gS 

(a) ;qXedksa dk mRiknu  

(b) xq.klw=ksa dh la[;k esa deh 

(c) fHkUurk dk ifjp; 

(d) mijksDr lHkh 

 

74. tks dksf”kdk,a foHkkftr ugha gks jgh gSa] muds gksus 

dh laHkkouk gS 

(a) G1  (b) G2  

(c) G0  (d) S phase  
 

75. uhps lwphc) ?kVukvksa esa ls dkSu lk ?kVuk lelq=h 

foHkktu ds nkSjku ugha ns[kh tkrh gS\ 

(a) ØkseSfVu la?kuu  

(b) lsaVªhvksYl dk foijhr /kqzoksa dh vksj c<+uk 

(c) lsaVªksfe;j ij ,d lkFk tqM+s nks ØkseSfVM okys 

xq.klw=ksa dh mifLFkfr 

(d) fofue; 
 

76. dkSu lk /kkrq vk;u DyksjksfQy¼i.kZja/kz½ dk ?kVd 

gS\ 

(a) yksgk  (b) rkack 

(c) eSXuhf”k;e  (d) ftad 
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77. During light reaction in photosynthesis the 

following are formed. 
(a) ATP and sugar  

(b) hydrogen, O2 and sugar 

(c) ATP, hydrogen donor and O2 

(d) ATP, hydrogen and O2 donor 

 
78. Mitochondria are called power houses of the 

cell. Which of the following observations 

support this statement? 

(a) Mitochondria synthesise ATP. 
(b) Mitochondria have a double membrane 

(c) The enzymes of the Krebs’ cycle and the 

cytochromes are found in mitochondria. 

(d) Mitochondria are found in almost all 

plant and animal cells. 
 

79. Ethylene is used for 

(a) retarding ripening of tomatoes 

(b) hastening of ripening of fruits 

(c) slowing down ripening of apples 
(d) both (b) and (c) 

 

80. ABA acts antagonistic to 

(a) ethylene  (b) cytokinin 
(c) gibberelic acid (d) IAA 

77. izdk”k la”ys’k.k esa izdk”k vfHkfØ;k ds nkSjku 

fuEufyf[kr dk fuekZ.k gksrk gSA 

(a) ATP vkSj phuh  

(b) gkbMªkstu] O2 vkSj phuh 

(c) ATP, gkbMªkstu nkrk vkSj O2 

(d) ATP, gkbMªkstu vkSj O2 nkrk 

 

78. ekbVksdkWfUMª;k dks dksf”kdk dk ikoj gkml dgk 

tkrk gSA fuEufyf[kr esa ls dkSu lk voyksdu bl 

dFku dk leFkZu djrk gS\ 

(a) ekbVksdkWfUMª;k ATP dk la”ys’k.k djrk gS 

(b) ekbVksdkWfUMª;k esa nksgjh f>Yyh gksrh gS 

 (c) ØsCl pØ vkSj lkbVksØkse ds ,atkbe 

ekbVksdkWfUMª;k esa ik, tkrs gSaA 

(d) ekbVksdkWfUMª;k yxHkx lHkh ikS/kksa vkSj tkuojksa 

dh dksf”kdkvksa esa ik, tkrs gSaA 

 

79. ,fFkyhu dk mi;ksx fd;k tkrk gS 

(a) VekVjksa dks idkus esa nsjh djuk 

 (b) Qyksa dk tYnh iduk 

(c) lso ds idus dks /khek djuk 

(d) nksuksa (b) vkSj (c) 
 

80. ABA izfrdwy dk;Z djrk gS 

(a) ,fFkyhu  (b) lkbVksfdfuu 

(c) ftcjsfyd ,flM (d) IAA 
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